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No supplementary answer-book will be given to any condidate. Hence the candidates should write the

answers precisely in the main answer-book only.
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Answers of short answer type questions must be givenyg sequentzal order. Similarly, all the parts of one
question of descriptive part should be answered at onglace in the answer-book.
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Write your roll number on question paper before answering of the questions.
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Question paper consists of three parts A, B and C.
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Part-A: 20 marks 9FT-31 : 20 3> R

Part-A of the paper will be compulsory having 10 verxrBhort answer type questions of 2 marks each. The
first question shall be based on knowledge, understangzg and applications of the topics/text covered in
the syllabus. (Words Limit 20) v O
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Pant-B: 20 marks 41I-§: 20 3id

Part B of the paper shall consist of 4 short answer questions selecting one question from each unit of 10
marks each. Attempt any two. (Words Limit 1 50)
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Part-C: 80 marks NT1-%7 : g9 gy .

Pant-C o{ the paper shall consist of 4 units each wnit carrying 1 descriptive with internal choice. Students
shall attempt 1 question from each unit. Each question carries 20 marks. (Word Limit 3 00)
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Part-A/qiir-31
-
1. (©  Give the different techniques of costing ROETR IEL 2 L T e [10x2=20)
ez B Rt st gy &
v 7 ~J

(@ Distinguish between direct and indirec

t cost.

- (i) Annual consumption of a commodity is 5000 units, the per order cost is X 64 and per unit
cost is T 100. The storage cost is 16% of average material price. What will be the eco-
)

nomic order quantity? =
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What is meant by Casual Labour?

e the name of four industries where unit costing method is applied.
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(ix) Compute Break even point (in units) from the following information: . : .-
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Ptl?(.ed~ Qverhead iV ? 400000
Vanable cost pet umt | ? 19
Selling price per unit 324
(x)  Why Idle time variance is a.gays adverse?
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1. Prepare a store ledger account from the following mformatlon showmg the issue of material on

First In First Out Method (b) Last In First Out Method 0% [10]
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' Recegs Issues

Date | Units | Rate Date Unit

3.1.2022 2,000 @%1.00 | 4.1.2022 500
5.1.2022 3,000 @%1.40 | 7.1.2022 2,000

10.1.2022 | 2,000 @%1.50 | 15.1.2022 | 3,000

20.1.2022 | 3,000 @%1.80 | 25.1.2022 | 2,500
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2. Explain the following by giving suifgble example. [5+5]
(9]
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Unit-1i/gar§-11T

b 0,000. The contractee
3 - ‘Goyal Bros. accepted a contract for the construction of a building for 210,0 .
agreed to pay 90% of work certified as certified by the architect. During the first y 10
| oo Spent was as follow: ... GO T T ‘ e
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B BN 90% IR B Wewa & may maﬁé‘ﬁmiﬁﬁnﬁm@éaﬁﬂ#

Particulars ¢ Pa'%ulars 3

. Material 1,20,000 Plalght site 20,000
Labour 1,50,000  Material at site 5,000
Plant issued 30,000 - Work certified 4,00,000
Other Expenses 90,000 Work Uncertified 15,000

Prepare contract account in the books of Goyal Bros. Also show the amount of profit that can be
transferred reasonably to the P&L a/c.
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N
Find out P/V Ratio and the fixed cost from the following information [5+5]
=1 st X 3w s vd Rer e s ot
Year : Sales Profit
3 3
2020-21 | 40000 | 2000
2021-22 5080 | ' 26,000
o
Part-C/jj1-9
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o What do you mean by cost accounting? Ex
financial accounting?
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.o o OR/3TAT,
Two types of material A and B are used as follows: [20]

21 YR @ GEl, A B 1 WeR W B A oy S g, -

' Normal Usage (WM AT - 50 Units per week each - -
Minimum Usage ("JAdH HTA) 25 Units per week each
Maximum Usage  (37féraaw T{HT) 715 Units per week each
Reorder quantity (7 3Rl ‘Hﬁﬂ) A 300 Units

. B: 560 Units
* Reorder Period (F: R §HA) A: 4 to 6 weeks
3 ('; : ‘ B: 2 to 4 weeks

Calculate the following levels for each type of material

TP YR o I & Frefead w1 &1 WReew difse:

(@ Reorder Level (b) Minimum Level
(c) Maximum Level (d) Average Stock Level
1276
Unit-1/gorg-11
2. Whatdo you mean by Labour Turnover? Mention the various methods of its measurement. [6+14]
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The following figures have been obtained from the cost records of Megha Ltd for the year 2022.
PrafRaa Wi af 2022 & forw dar forfies & emma el & o fod 2 @2 [20]

Cost of material ~ 2,40,000 Administration Expenses 1,34,400
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Wages of Labour 2,00,000 Selling Expenses 89,600

Faclory overhead 1,20,000 Profit | ,68,000
Distribution Expenses  £6,000

» il will be €32,000 and
A work onder will be executed iy the year 2023 and for that cost of material will be
wages will be € 20,000

Assuming that in the year 2023 the rate for factory overhead will go up by 20%. Distribution char§cs
Wil come down by 10% and seling and avinistration charges will o up by 124 %. At what prie
should the product of the job be quoted so s to carn the same (earlier) rate of profit on the selling
price? Administration, Distribution and selling overhead are based on the factory cost.
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 Unit-I/gaté- 111

imtor lorry carried 30 tones weight per week and travels 600km distance per week. From the
ﬂ;ng information you are required to calculate cost per ton to operate motor lorry for the
me nth of Feb, 2022 on weekly basis assuming 4 weeks in Feb. month. [20}
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Driver's Salary

Aa b e

Saturday 65 kms, .

Expenscs (&4)

Cleaner's Salary
Petrol, oil etc.

Repair & Maintenance

Depreciation

Other Expenses

5.0tons

30.0 tons

‘ 1,600 per month

800 per month
2.40 per km
2 400 per month

3,200 per month

- 1,600 per month




Material A~ 120 kg @ T 5 perkg
Material B 80 kg @ ¥ 10 per kg
Standard Yield 140 kg

The Actual mix and yield were as follows-
e fsor vd 3eared R SBR |
Material A 122 kg @ 5 perkg

Material B- 88 kg @ X 10 per kg

Actual Yield 154 kg
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